Subject: Re: Yet again, The Sky is Falling!
Posted by yp on Thu, 08 Mar 2007 20:31:29 GMT

View Forum Message <> Reply to Message

Paul,
> why are you using DOUBLE in the above line?

| know its of no use as both foq0 and foq are returned as double, but
just in case...

> |t seems all your numbers are exactly the same until you print the resultant foq0O/fog. All
> the (internal to int_LUN | assume) f/Q numbers are the same.

More precisely, it shows the difference for foq0 (a hypothetical
situation) when the arguments are passed by value and by reference.

> Why not just do,

>

> print,'BRDF: ',foq0/foq

>

> ?

Not really helpful! Same result.
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